

Evaluate
$$\lim_{\chi \to 0} \frac{\tan 5\chi}{\sin 3\chi} = \frac{\tan 0}{\sin 0} = \frac{0}{0}$$
 I.F.

$$\lim_{\chi \to 0} \frac{\tan 5\chi}{\sin 3\chi} = \lim_{\chi \to 0} \frac{\frac{\sin 5\chi}{\cos 5\chi}}{\sin 3\chi} = \lim_{\chi \to 0} \frac{\frac{\sin 5\chi}{\cos 5\chi}}{\cos 5\chi \cdot \sin 3\chi}$$

$$\lim_{\chi \to 0} \frac{\sin \chi}{\chi} = 1 \quad \text{if } \frac{1 - \cos \chi}{\chi} = 0 = \lim_{\chi \to 0} \frac{1}{\cos 5\chi} \cdot \lim_{\chi \to 0} \frac{\sin 5\chi}{\sin 3\chi}$$

$$= \frac{1}{\cos 0} \cdot \lim_{\chi \to 0} \frac{5\chi}{3\chi} = \frac{1}{1} \cdot \frac{5}{3} \cdot \lim_{\chi \to 0} \frac{\sin 5\chi}{3\chi} = \frac{1}{1} \cdot \frac{5}{3} \cdot \frac{1}{1}$$

$$= \frac{1}{\cos 0} \cdot \lim_{\chi \to 0} \frac{5\chi}{3\chi} = \frac{1}{3} \cdot \frac{5}{3} \cdot \lim_{\chi \to 0} \frac{5\sin 3\chi}{3\chi} = \frac{1}{1} \cdot \frac{5}{3} \cdot \frac{1}{1}$$

$$= \frac{5}{3}$$

Evaluate
$$\lim_{\theta \to 0} \frac{\theta}{\cos \theta} = \frac{0}{\cos 0} = \frac{0}{1} = 0$$

Evaluate $\lim_{\chi \to 0} \frac{1 - \cos 4\chi}{1 - \cos 3\chi} = \frac{1 - \cos 0}{1 - \cos 0} = \frac{1 - 1}{1 - 1} = \frac{0}{0}$

We know $\lim_{\chi \to 0} \frac{1 - \cos \chi}{\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$
 $\lim_{\chi \to 0} \frac{1 - \cos \chi}{3\chi} = 0$

$$\lim_{\chi \to 0} \frac{1 - \cos 4\chi}{1 - \cos 3\chi} = \lim_{\chi \to 0} \frac{(1 - \cos 4\chi)(1 + \cos 4\chi)(1 + \cos 3\chi)}{(1 - \cos 3\chi)(1 + \cos 4\chi)(1 + \cos 3\chi)}$$
Let's try Conjugates
$$= \lim_{\chi \to 0} \frac{\sin^2 3\chi}{\sin^2 3\chi} \cdot (1 + \cos 4\chi)$$

$$= \frac{2}{2} \lim_{\chi \to 0} \frac{\sin^4 \chi}{\sin^4 \chi}$$

$$= \frac{2}{2} \lim_{\chi \to 0} \frac{\sin^4 \chi}{\sin^3 \chi}$$

$$= \lim_{\chi \to 0} \frac{4\sin^4 \chi}{3\sin^3 \chi}$$

$$= \frac{16}{9} \cdot \lim_{\chi \to 0} \frac{\sin^3 \chi}{3x}$$

$$= \frac{16}{9} \cdot 1$$

Sind a nonzero value for K such that

$$S(x) = \begin{cases}
\frac{\tan kx}{x} & \chi(0) \\
3x + 2k^2 & \chi(0)
\end{cases}$$
To be cont. at $x = 0 \Rightarrow \lim_{x \to 0} S(x) = S(0)$

$$S(0) = 3(0) + 2k^2 = 2k^2 = 2k^2$$

$$\lim_{x \to 0} S(x) = \lim_{x \to 0} \frac{(3x + 2k^2)}{x} = 2k^2$$

$$\lim_{x \to 0} S(x) = \lim_{x \to 0} \frac{\tan kx}{x} = \lim_{x \to 0} \frac{k\sin kx}{\cos kx \cdot kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\cos kx \cdot kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\cos kx \cdot kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\cos kx \cdot kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\cos kx \cdot kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx \cdot x} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx \cdot x} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx \cdot x} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx \cdot x} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx \cdot x} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx \cdot x} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{\sin kx}{\cos kx \cdot x}}{\sin kx \cdot x} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1}{\sin kx}}}{\sin kx \cdot x}} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1}{\sin kx}}}{\sin kx \cdot x} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1}{\sin kx}}}{\sin kx \cdot x} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1}{\sin kx}} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1}{\sin kx}} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1}{\sin kx}} = k \lim_{x \to 0} \frac{1 \lim_{x \to 0} \frac{1}{\sin kx}}$$

Class QZ 3

Sor
$$E=.05$$
, Sind S Such that $\lim_{x \to 2} \frac{\chi^2 + y}{x-2} = 4$

VeriSY $\lim_{x \to 2} \frac{\chi^2 - y}{x-2} = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = \lim_{x \to 2} (x+2) = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = 2 + 2 = 4$
 $\lim_{x \to 2} \frac{(x+2)(x-2)}{x-2} = 2 + 2 = 4$
 \lim

```
Sor \varepsilon=.025, S and S such that \lim_{x \to -5} (2|x|-3)=7.

Verify \lim_{x \to -5} (2|x|-3)=2|-5|-3=2.5-3=7

Verify \lim_{x \to -5} (2|x|-3)=2|-5|-3=2.5-3=7

|S(x)-L|<\varepsilon^{\alpha} whenever |x-a|<\delta

|S(x)-L|<\varepsilon^{\alpha} whenever |x-(-5)|<\delta

|S(x)-L|<\varepsilon^{\alpha} whenever |S(
```

```
Sor \varepsilon > 0, Sind \varepsilon > 0 Such that

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 3^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.

\lim_{x \to 3} x^3 = 27. Verify \lim_{x \to 3} x^3 = 27.
```

